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Brain storming as a method can be used for
(1) Out-of-box thinking
(2) Coherent thinking

(3) (Generate new 1deas 1n the area of interest
(4) Critical thinking

Options:

646350100939, 1

646350100940, 2

645350100541, =
E4535010094%. 4
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Correct Marks: 2 WrongMarks: 0

A workshop 1s meant for

(1) Hands — on — experience (2) Listening to scholarly lectures
(3) Learning with interaction (4) Discussing over one's own work
Options:

645350100542 1
645350100944 2
E4E350100345. =
EAEZ50100546, 4
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Correct Marks: 2 WrongMarks: 0
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645350100543 1
645350100944, 2
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Learning objectives mean

(1) Learning experience (2) Concise outcomes
(3) Academic achievement (4) Intended learning outcomes
Options:

645350100547, 1
6453501003948, 2
645350100943, 5
EAEZ50100350. 4
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E4EZ50100347. 1
EAEZ50100345. 2
645350100545 =
645350100350, 4
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Correct Marks: 2 Wrong Marks: 0



For optimising self-learning which of the following motivational principles will be most
helpful?
(1) Using reward and punmishment
(2) Creating scope for fulfilling rel atedness need
(3) Providing scope for satisfying need for competence
(4) Promoting concerns for meeting status needs
Options:
645350100551, 1
645350100952 2
645350100953 =
645350100954 4

Question Number : 4 Question Id : 64635025722 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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648350100951 1
48350100952 2
645350100952 5
645350100954 4

Question Number : 5 Question Id : 64635025723 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following research types has a potential for enhancing teaching competencies?

(1) Fundamental research (2) Applied research
(3) Impact assessment research (4) Action research
Options:

645350100555, 1
6453501003956, 2
6453501003957, 3
EAEZ50100358. 4
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Correct Marks: 2 Wrong Marks: 0
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645350100355, 1
6453501003956, 2
E4E350100357. =
EAEZ50100358. 4

Question Number : 6 Question Id : 64635025724 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A pilot study 1s also called a

(1) descriptive study (2) feasibility study
(3) correlational study (4) explanatory study
Options:

645350100353, 1
45350100360, 2
E4E350100361. =
EAEZ50100362. 4

Question Number : 6 Question Id : 64635025724 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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645350100353, 1
645350100360, 2
E4E350100361. =
EAEZ50100362. 4

Question Number : 7 Question Id : 64635025725 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In research, reliability 1s that quality of a measurement procedure which provides

(1) repeatability and accuracy (2) punctuality and accuracy
(3) accuracy and speed (4) speed and repeatability
Options:

645350100363, 1
E4E350100364, 2
EAEZ50100365. =
EAEZ501003966. 4
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Correct Marks: 2 Wrong Marks: 0
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645350100963 1
645350100964, 2
48350100965 =
45350100966, 4

Question Number : 8 Question Id : 64635025726 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The fish bowl draw 1s a method of drawing a/an
(1) independent sample

(2) structured sample

(3) non-random sample
(4) random sample
Options:

E45350100567. 1
453501003968, 2
6453501003963, =
EAEZ50100370, 4

Question Number : 8 Question Id : 64635025726 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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645350100967 1
645350100968, 2
48350100969 =
45350100970, 4



Question Number : 9 Question Id : 64635025727 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A questionnaire that offers no scope for any respondent’s own view 1s called

(1) closed-ended (2) schedule
(3)  open-ended (4) unstructured
Options:

E4E3501005871. 1
EAEZ50100372. 2
EAE3501003973. 3
645350100574, 4

Question Number : 9 Question Id : 64635025727 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: O
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645350100571, 1
BAE35010087%. 2
6453501003973 3
645350100974, 4

Question Number : 10 Question Id : 64635025728 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In experimental research based studies the observations derived from which of the following

variables are considered for statistical analysis?

(1) Independent variable (2) Dependent variable
(3) Moderator variable (4) Control variable
Options:

E4E350100375. 1
EAEZ50100976. 2
6453501005877, 3
6453501003975, 4
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E4EZ50100375. 1
EAEZ50100376. 2
E4AE350100877. 3
6453501003975, 4

Sub-Section Number: 2
Sub-Section 1d: 6463501267
Question Shuffling Allowed : Yes

Question Id : 64635025729 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label @ Comprehension

Indian organisations have traditionally not considered their human resource as a means of
distinct competitive advantage. Hather, people management has been a big challenge for the
Indian business head. This situation is undergoing a rapid change today; because as Indian
organisations are recognising the need for professional human resource management,
simultaneously there is a growing demand for trained human resource professionals. At
most umversities, business schools have begun to offer specialised, customised courses to
train the human resource professional. Increasingly, organisations are encouraging line
managers to handle human resource responsibilities.

Ancient India was known for its occupation based hierarchy. The ancient Indian text, the
Arthashastra refers to the job description of a supervisor and performance linked pay for
artizans.

It was only after the year 1850 that formal industrial organisations emerged 1n India. But 1t
was only after India became an independent country in 1947 that significant improvement
was witnessed 1n the personnel management policy of business organisations.

After independence, when a mixed economy was encouraged as the Indian growth model,
industrial organisations were broadly classified into public sector and private sector. Since
the public sector units were the recipients of large investments and became the biggest
emplovers, their approach towards personnel management received a lot of attention. The
goal of a socialistic society enshrined within the constitution of India implied that the
protection of human resource became a significant objective. Many constitutional provisions
were created in order to protect workers. Organisations had to appoint welfare officers to
take care of all personnel.

The next phase of development saw the rise of the trade unions, and manager unions in the
Indian business organization. This further boosted the growth of personnel offices in most
organisations.

Sub questions

Question Number : 11 Question Id : 64635025730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



More and more organisations are encouraging their line managers to handle
(1) the whole organisation

(2) the responsibilities of human resource

(3) the offices of jumors

(4) the public relations

Options:

45350100979 1
645350100980, 2
645350100981, =
645350100982 4

Question Number : 12 Question Id : 64635025731 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The competitive advantages of human resource has NOT been

(1) understood in the past (2) realised in the present
(3) ignored in the past (4) planned for the future
Options:

E453501005583. 1
6453501009584, 2
6453501003985, =
EAEZS0100356. 4

Question Number : 13 Question Id : 64635025732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The hierarchy system in ancient India was based on

(1) the job you did (2) the family you belonged to
(3) the place yvou lived in (4) the year of your birth
Options:

6453501003387, 1
EAEZ501003588. 2
E4E35010039589. =
E4E350100530. 4

Question Number : 14 Question Id : 64635025733 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Significant improvement was seen in the personnel management policy of business

organisations after

(1) 1850 (2 1857
(3) 1940 4 1947
Options:

E4EZ501003391. 1
EAEZ50100332. 2
E453501005933. =
645350100954 4

Question Number : 15 Question Id : 64635025734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Personnel offices in many organisations witnessed an increase because of

(1) independence of India (2) 1ndustrial development
(3) the rise of umons (4) worker-friendly policies
Options:

E4E350100335. 1
EAE350100936. 2
6453501003937, 2
645350100935, 4
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Correct Marks: 2 Wrong Marks: O

AT ATeA ARA-TH Rl FT Haras s o ag@r e @ 27

(L)  =eg e

(2)  HFE HHEE F e F f9ieH & oo
(8)  FHHEI F FHGA

@)  H-TE

Options:

645350100979 1
645350100980, 2
6453501005931, =
483501003922 4

Question Number : 12 Question Id : 64635025731 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E4E3501003583. 1
EAEZ501003584. 2
E453501005985. =
E4E350100556. 4

Question Number : 13 Question Id : 64635025732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: O
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E4EZ50100357. 1
EAEZ50100388. 2
6453501005583, =
6453501003930, 4
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(1) 1850 (2) 1857
3) 1940 @ 1947
Options:

645350100551, 1
645350100932, 2
645350100933, 3
E4E350100394, 4
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EAEZ50100336. 2
645350100537, =
E453501005935. 4

Sub-Section Number: 3
Sub-Section Id: 6463501268
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635025735 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

We listen attentively to and favourably interpret messages which boost our self image, and

reject or misinterpret messages which threaten that image. This is called:

(1) communication selectivity

(2) change resistance

(3) 1mage rationalisation

(4) communication distortion
Options:

645350100993, 1
E4E350101000. 2
E4E350101001. =
EAE35010100Z. 4
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Correct Marks: 2 WrongMarks: 0
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E4E350100393. 1
EAE350101000. 2
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645350101002, 4
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Correct Marks: 2 Wrong Marks: 0



Gate keeping by media to ensure what audiences consume is indicative of
(1) The audiences’ voice in media programming

(2) Media's control on society

(3) Feedback received by the media

(4) Media's role in creating culture
Options:
646350101003 1
646350101004, 2
646350101005, 3
6463501010086, 4
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E4E350101002 1
645350101004 2
645350101005
645350101006, 4
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Assertion (A) : The ‘arts’ have grown out of the fundamental desire and need to
communicate
Reason (R) : Language 1s inseparable from culture which is its very source of

sustenance and fundamental to communication

Choose the correct option:

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (4)
(3) (A) 1s true but (R) 1s false

(4) (A) 18 false but (R) 1s true

Options:
645350101007, 1
645350101008 2
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E45350101010. 4
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Correct Marks: 2 WrongMarks: 0
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645350101007, 1
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Question Number : 19 Question Id : 64635025738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: O

Which of the following 1s a characteristic of interpersonal communication?

(1) It is both focused and unfocused (2) It 1s not participation friendly
(3) It 1s philosophical (4) Itis metaphorical
Options:

645350101011, 1
EAEZ50101012. 2
E4E350101013. =
645350101014 4

Question Number : 19 Question Id : 64635025738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: O
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645350101011, 1
645350101012 2
645350101013 =
E4E350101014. 4

Question Number : 20 Question Id : 64635025739 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

3

A teacher while offering feedback in a classroom transaction utters No, you are incorrect’.

This will be called which type of feedback?

(1) Positive (2) Negative
(3) Confirmatory (4) Corrective
Options:

645350101015, 1
645350101016, 2
E4E350101017. =
EAEZ501010158. 4

Question Number : 20 Question Id : 64635025739 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
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645350101015, 1
E4EZ50101016. 2
E4E350101017. =
645350101015, 4

Question Number : 21 Question Id : 64635025740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0



IfE =5 and HOTEL = 12, how will you code BALM?

1y 28 (2) 26
@ 16 @ 17
Options:

6453501010139, 1
645350101020, 2
645350101021, 3
EAEZ50101022, 4

Question Number : 21 Question Id : 64635025740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e B =5 AR HOTEL = 12 &, a1 BALM %l %2 #1 2F1?

1 28 (2) 26
3 16 @ 17
Options:

6453501010139, 1
EAEZ50101020. 2
E4E350101021. =
EAE35010102Z. 4

Question Number : 22 Question Id : 64635025741 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Rohan gave three-fifth of the amount he had, to Salil. Rohan now has 2000 rupees. How
much did he give to Salul?

(1) 1200 rupees (2) 2000 rupees
(3) 3000 rupees (4) 5000 rupees
Options:

E4E350101023. 1
EAEZ50101024. 2
645350101025, 2
45350101026, 4

Question Number : 22 Question Id : 64635025741 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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645350101023 1
645350101024, 2
EAEZ50101025. 2
EAEZ50101026. 4

Question Number : 23 Question Id : 64635025742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
40% of the employees 1n a factory are workers. All the remaining emplovees are executives.
The annual income of each worker iz Rs. 39,000. The annual income of each executive is
Rs. 42,000. What 1s the average annual income of all employees in the factory together?

(1)  Rs. 40500 (2) Rs. 40800
(3)  Rs. 41,000 (4) Rs. 41,500
Options:

645350101027, 1
EAEZS0101028. 2
E4E350101029. =
E4E5350101030. 4

Question Number : 23 Question Id : 64635025742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

uF bt § 40 yfawd e w0 () §1 I ot FHer wsiagfeen #) ueE wmm i andes
@A™ 39,000 ¥C, 2| UAF WSiFGfed H aiF AF 42,000 W 2| 39 FFd H A F AEa aiE
A 41 22

(1) 40,500 Tqu (2) 40,800 &4,
(3) 41,000 ®9C 4) 41,500 T
Options:

645350101027, 1
645350101028, 2
645350101023, 3
EAEZ50101020. 4

Question Number : 24 Question Id : 64635025743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Sameer walks a certain distance and rides back talking a total time of 40 minutes. He could
walk both ways 1n 60 minutes. How long would 1t take for him to ride both ways?

(1) 15 min (2) 20 min
(3) 28 min (4 30 mn
Options:

E45350101031. 1
645350101032 2
645350101033, 2
645350101034 4

Question Number : 24 Question Id : 64635025743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
gHiT fordfl gt ok Aget srar 2 e mard o aww atedr 2, BoH susl $et 40 fde @ird 21 a2 i A
Yedd ST S @ 60 fHe § w1 961 21 IHF 21 9% galt & 9H @ e die § R oee
AT ?

(1 15fFe (2 20 fFe
(3) 28 foFe (@) 30 fiFe
Options:

645350101021, 1
645350101032 2
E4EZ501010233. =
E4E350101034. 4

Question Number : 25 Question Id : 64635025744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

At what percentage above the cost price must an article be marked so as to gain 8% after
allowing a customer a discount of 10%?

(1) 18% (2) 20%
(3) 28% 4) 10.8%
Options:

645350101035 1
645350101036, 2
E4EZ50101027. =
EAEZ501010358. 4

Question Number : 25 Question Id : 64635025744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



uigs 10 yfdwd 6t 92 23 F gvad 8 ufasd @m e w1 % o feft axq 6 amra gew & R
At wfderd w sAfra gea Faifa fen smn smfze?

(1) 18% (2) 20%
(3) 28% (4) 10.8%
Options:

645350101035, 1
E4EZ50101036. 2
E4E350101037. =
6453501010358, 4

Question Number : 26 Question Id : 64635025745 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If proposition ‘Students are serious’ is taken to be false then which of the following
propositions can be true?

(a) All students are serious

(b)  All students are not serious

(¢c) Some students are not serious

(d) Some serious ones are not students

Select the correct answer from the options given below:

(1) () only

@  (and @

(3) () only

@ (b and(c)
Options:

645350101035, 1
645350101040, 2
E4E350101041. =
EAEZ50101042. 4

Question Number : 26 Question Id : 64635025745 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



af ket Frenedf i ¥ fea g fomn s o1 Fefafag § § S9-F ok g ad 2
() wft formedf i 2

b) =i feremsl mi 7 3

€ F formedi miw A 2

() % i =T PR A 2

A= fau T faeredi H O @l I g ;
(1) e (a)
@ (b))
3 % (d)
@ b))
Options:

645350101039, 1
645350101040, 2
645350101041, 3
E4E350101042. 4

Question Number : 27 Question Id : 64635025746 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
Given below are two premises with four conclusions drawn from them. Which of the
following conclusions could be validly drawn from the premises?
Premises:

(a) Some rings are bells

(b) Noringis ornament

Conclusions:

(1)  All bells are ornaments
(2) Some ornaments are not bells
(3) Noringis bell
(4)  All bells are not ormnaments
Options:
45250101042 1
cde3E0101044. 2

645350101045, 3
EAEZ50101046, 4



Question Number : 27 Question Id : 64635025746 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A g1 A19E aEd 6u g 7 oY 9 Heed el T 21 Sar el O HEfaiad 9 8@ sH-8 B gy
wq g fArfae 2 aea 27

HTHEE 19 -
(a) F® AT bieAl 8

(b) T ALS AT AE 2

Fowe
(1) =t spfear sangyor 2 (2) F® Ay gfeai 78 2
(3) g I A A 2 (4) =t |feAi sAnpy AE 8
Options:

645350101043, 1
645350101044 2
645350101045, 3
EAEZ50101046, 4

Question Number : 28 Question Id : 64635025747 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When subject and predicate of both the premises is same but they differ in quality as well as
quantity, it 1s known as

(1) Superaltern (2) Contraries
(3) Contradictories (4) Subaltern
Options:

645350101047, 1
E4EZ50101048. 2
E4E350101049. =
645350101050, 4

Question Number : 28 Question Id : 64635025747 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

S Hal AR FE gFI S9R ATl & 99E 2 91 d qUEdT AR 9T H B 2, 39 &1 S 2

(1)  sAfqadEE (2 fawla
(3)  wafdua 4) AHAEY
Options:

645350101047, 1
E4E350101048. 2
E4E350101049. =



EAEZ50101050. 4

Question Number : 29 Question Id : 64635025748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the reasoning in the following argument:

Method of teaching 1n the classroom can be compared to architectural plan of a building’.

(1) Analogical (2) Hypothetical
(3) Inductive (4) Deductive
Options:

645350101051, 1
645350101052, 2
645350101053 2
E4E350101054. 4

Question Number : 29 Question Id : 64635025748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frefefiaa 3fe d a i wz=m fifso;

‘e H forerr ugfa i ge vk weH i wae A o i S geedt 2
(1) q1eyd Hedh (2) Ui TeH
(8)  HAFHATHS (@ P
Options:

645350101051, 1
645350101052, 2
E4E350101053. 2
EAEZ50101054. 4

Question Number : 30 Question Id : 64635025749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The proposition ‘All birds are cows’ 1s equivalent to which of the following propositions?
(a) Some cows are birds
(b) Some cows are not non-birds

(c) Some birds are cows

(d) Many birds are cows
Select the correct answer from the options given below:

(1)  (a) only

(2) (¢) and (d)

(3)  (a), (b), (c) and (d)
4)  (d) only

Options:

648350101055 1
45350101058, 2
645350101057 5
645350101058 4

Question Number : 30 Question Id : 64635025749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
aF as ‘ot ffea ma & Fefafga adasd 4 9 fFas aam 22
(@) F® T g 2
(b) % T -ferfeEn A 2
© T fofgan = 2

(d) sgd =i f=igar T 2
il feu o faecdi § O 3t 39 w1 =9 fifse

(1)  *ad (a)
2 (o) =)

3 @, b)), © AW
@ ()

Options:

648350101055 1
45350101058, 2
645350101057, 5
645350101058 4



Sub-Section Number: 4
Sub-Section 1d: 6463501269
Question Shuffling Allowed : Yes

Question Id : 64635025750 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehension

Consider the following table that shows percent profit earned by company ABC and company
XYZ during the vear 2011-2016.

Answer the questions based on the data contained in the table:

Year Percent profit earned Percent profit earned

by company ABC by company XYZ
2011 50 55
2012 70 60
2013 50 45
2014 40 50
2015 60 50
2016 &0 75

Sub questions

Question Number : 31 Question Id : 64635025751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If the profit earned by company ABC in the year 2015 was Rs. 6,60,000, what was the total
income of the company in that year?

(1 11,000,00 (2) 14,300,00
(3 17,600,00 (4) 20,900,00
Options:

645350101053, 1
E4EZ50101060. 2
E4E350101061. =
EAE3501010682. 4

Question Number : 32 Question Id : 64635025752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the income of company ABC in 2013 and that in 2015 were equal and the amount invested
in 2013 was Rs. 8,00,000 what was the amount invested in 2015?

(1) 7,50,000 (2) 9,00,000
(3) 10,50,000 4 12,00,000
Options:

645350101063 1



EAE350101064. 2
645350101085, =
E453501010686. 4

Question Number : 33 Question Id : 64635025753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

If the amount of profit earned by company XYZ in 2012 was KHs. 9 lakh, what was the total
investment?

(1) 12,00,000 (2) 15,000,000
(3) 16,00,000 (4) 18,00,000
Options:

E4E350101067. 1
E4AE350101088. 2
6453501010635, 2
45350101070, 4

Question Number : 34 Question Id : 64635025754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If each of the compames ABC and XY7Z invested Hs. 20 lakh in 2014, what was the average
profit earned by the two companies?

(1) Rs. 8 lakh (2) RERs. 10lakh
(3) KHs. 9lakh (4) Rs.12lakh
Options:

645350101071, 1
645350101072 2
645350101073 3
EAEZ50101074. 4

Question Number : 35 Question Id : 64635025755 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If the amounts invested by the two companies in 2015 were equal, what was the ratio of the
total income of company ABC to that of company XYZ in 2015

(1) 5:6 2y B:s
(3) 15: 16 @ 16:156
Options:

E4E350101075. 1
EAE350101076. 2
645350101077, 2
6453501010758, 4

Question Id : 64635025750 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH



a9 2011-2016 =+ = ABC 21T XYZ #Faf4i g1 At gfaed ot &1 g9iH Jiell Hefaigd arfast ™
ferem ifeg)
darferel § 6T 70 SRl & TN 9T YgHl il UL A

ad  ABC &9l g e aw ufawg XYZ w91 grn 2afsia o gfdwa

2011 50 55
2012 70 60
2013 50 45
2014 40 50
2015 60 50
2016 80 75

Sub questions

Question Number : 31 Question Id : 64635025751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

afe ABC &9+ gro rfSia @™ a9 2015 # 6,60,000 &9 o 4t 39 a9 d F & Fa A3 741 o?

(1) 11,000,00 (2) 14,300,00
3) 17,600,00 (4) 20,900,00
Options:

645350101053, 1
E4E350101060. 2
E4E350101061. =
EAEZ50101062. 4

Question Number : 32 Question Id : 64635025752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

7l &9 2013 W 2015 W ABC FeFT & ™ smW o 2T 2013 # faw € af¥ir 8,00,000 4 off =
2015 W fraw i =i afyr F@w oy e

(1) 7,50,000 (2) 9,00,000
(3)  10,50,000 (4) 12,00,000
Options:

E4E350101063. 1
6453501010684, 2
645350101065, 3
45350101066, 4

Question Number : 33 Question Id : 64635025753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



afg XYZ &t gra aafsia e 6t afet 20124 9 @@ w93 o, 39 a1 Raw fraan an?

(1) 12,00,000 (2) 15,00,000
(3) 16,00,000 (4) 18,00,000
Options:

E4E3501010687. 1
EAEZ50101068. 2
E4E35010106839. =
E45350101070. 4

Question Number : 34 Question Id : 64635025754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Afe ABC &t XYZ #afai § & udis 3 ad 2014 § 20 «rg w3l #1 Haw frn, aH1 st gro s
5 rors | e )

(1) 8dmw =& (2) 10« &.
(3) 9w s, (4) 124 &.
Options:

645350101071, 1
EAE350101072. 2
E4EZ501010732. 2
645350101074, 4

Question Number : 35 Question Id : 64635025755 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

MG v 2015 | ZFT FaFET g0 Faw $ = afiet aam oOf af a 20159 ABC @i XYZ #afai 6 Fa
AF AT T4 U7

1)y 98 (2 6:5
(3) 15: 16 4 16:15
Options:

645350101075, 1
45350101076, 2
EAEZ50101077. 2
EAEZ50101075. 4

Sub-Section Number: 5
Sub-Section I1d: 6463501270
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635025756 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following hardware was used by the first generation computers?

(1) Transistors (2) Vacuum tubes
(3) VST (4) Integrated circuits
Options:

E4EZ50101073. 1
EAEZ50101080. 2
645350101081, =
645350101082 4

Question Number : 36 Question Id : 64635025756 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

wor gl Fege g Fefafiaa § & &9 o1 gEaat s=En § @ = an?

1)  gifwed (2) SFgH
(3)  diueemang @) 3fere afde

Options:
422350101079, 1

EAEZ50101080. 2
E4E350101081. =
645350101082, 4

Question Number : 37 Question Id : 64635025757 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Computer uses which number system to store data and perform calculations

(1)  Binary (2)  Octal
(3) Decimal (4) Hexadecimal
Options:

645350101083, 1
645350101084, 2
E4E350101085. =
EAEZ50101056. 4

Question Number : 37 Question Id : 64635025757 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

ARG T AR TOHT i & fIT Foge grn W S Yo 37

(1) = (2) @A
3  fma (4) FFEERma

Options:



E4E350101083. 1
645350101084, 2
645350101085, =
645350101086, 4

Question Number : 38 Question Id : 64635025758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 15 meant by the term RAM?
(1) Memory which can only be read

(2) Memory which can only be written to
(3) Memory which 1s used for permanent storage

(4) Memory which can be both read and written to

Options:

645350101087 1
645350101088 2
646350101089 =2
45350101090, 4

Question Number : 38 Question Id : 64635025758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

RAM 1g =l 341 2AfymE 2?

(1) wEh A e ger S g% 2

(2)  "E f9Y aa o & S a2

(3) T o curEl auz F foe s R S 2
(4)  =Ed e ger ot e o ot s g 2

Options:

E4E350101087. 1
45350101088 2
645350101089 5
645350101090 4

Question Number : 39 Question Id : 64635025759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is an address that specifies the location of a web page?
(1) URL (2) DNS
(3) HTML 4 HTTP



Options:

645350101091, 1
648350101092 2
45350101092 =2
645350101094, 4

Question Number : 39 Question Id : 64635025759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

s &5 U9 f ArevA w5 faffde s aren gar s 20

(1) URL (2) DNS
(3) HTML 4) HTTP
Options:

E4E350101091. 1
E4E350101039Z2. 2
6453501010393, =
645350101094, 4

Question Number : 40 Question Id : 64635025760 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following mobile payment application is developed by the National Payments
Corporation of India based on UPI?

(1) MYGOV (2) BHIM
(3) UMANG (4) PhonePe
Options:

6453501010385, 1
45350101096, 2
E4EZ501010397. =
EAEZ5010103958. 4

Question Number : 40 Question Id : 64635025760 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

UPI w ananfa fFefafaa § 4 &7 w1 geEa THe uitasas agl wan B (NPC) g fasfia ferar

T 87

(1) MYGOV (2) BHIM
(3) UMANG (4) PhonePe
Options:

6453501010385, 1
645350101096, 2
E4E350101097. =
EAEZ5010103958. 4

Question Number : 41 Question Id : 64635025761 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are features of Paris Agreement?
(a) The agreement focuses on mitigation measures for environmental pollution

(b) The agreement recognzes the principles of equity and common but differentiated
responsibilities

(c) Paris agreement pertains to 2020 climate actions

Select the correct answer:

(1)  (a) and (b) only (2) (a), (b) and (c)
(3) (b) and (c) only (4) (a)and (c) only
Options:

E4E3501010939. 1
645350101100 2
645350101101, 2
645350101102 4

Question Number : 41 Question Id : 64635025761 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Frefifia @ @ afe arghd 6 e #5922

(a) 7 TwEial gEianr yenu § H % IUEil 9 eaH Hfpa e 2

(b) 9z ouEitar gy <R ke & fgeal i vgem war 2 W i gt Re- e g 2
(c) Ui audar grafraa 2 2020 % Siag gEadd o

TRl IUL gy

1)  F= (a) A b) 2 (@), b))
@  F b) HE© 4 FF (a) AT (c)
Options:

6453501010593, 1
645350101100 2
645350101101, 2
645350101102 4

Question Number : 42 Question Id : 64635025762 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following 1s considered as a secondary air pollutant?

(1) Nitric oxide (2) Ozone
(3) Sulphur dioxide (4) Carbon monoxide
Options:

6453501011032 1
E4EZ50101104, 2



E4E350101105. 2
645350101106, 4

Question Number : 42 Question Id : 64635025762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fFeffiaa & & fraent o o s | St 22

()  Ffgw wAfFmss (2) AN
(3) Tl 213 ATHATEE (4) HEA AHGEES
Options:

E45350101103. 1
645350101104, 2
645350101105, 2
45350101106, 4

Question Number : 43 Question Id : 64635025763 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Indian government’s target for share of renewable energy in the total installed capacity of

electric power in India by the vear 2030 is

(1) 20% (2y 30%
(3) 40% @ 50%
Options:

E4E350101107. 1
E4E350101108. 2
645350101109, =
645350101110 4

Question Number : 43 Question Id : 64635025763 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

UG GTRE g ad 2030 a% und | fazpa ufe 6 $a oeafia gmar 4 Adiwofm s & fagd =
feraAT @& 27

(1 20% (2) 30%
(3) 40% (4) 50%
Options:

E45350101107. 1
645350101108, 2
645350101105 2
45350101110 4



Question Number : 44 Question Id : 64635025764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Amongst the following, which is better suited for dumping of nuclear waste?

(1) Salt mines (2) Deserts
(3) Forests (4) Oceans
Options:

E45350101111. 1
EAE35010111%2. 2
645350101113 =
645350101114 4

Question Number : 44 Question Id : 64635025764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T el I 9w % g Fefataa § 4 si-a1 gaiias 39w 27

(1) AU @H (2) HEYUA
3 = 4) 5
Options:

6453501011111
E4EZ50101112. 2
E4E350101112. =2
645350101114 4

Question Number : 45 Question Id : 64635025765 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The long term effect of cutting down of trees 1n large areas of rain forests 1s

(1) Inereased rain fall in those areas
(2) Decreased rain fall in those areas
(3) Increase in wind speeds 1n those areas

(4) Increased rate of soil erosion in those areas

Options:

645350101115 1
645350101116, 2
646350101117 =2
45350101118 4

Question Number : 45 Question Id : 64635025765 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



aui-Sel & % AT 23 H FHT Al F R S F A e 2
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(4 3 i ° - g H gl

Options:
6452501011151

E4E350101116. 2
E4E350101117. 2
43501011158 4

Question Number : 46 Question Id : 64635025766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(Generally who 1s the visitor of central universities of India?

(1) Prime Minister of India (2) Minister, MHRD
(3) President of India (4) UGC Charman
Options:

6453501011145, 1
45350101120 2
E4EZ50101121. =
EAEZ50101122. 4

Question Number : 46 Question Id : 64635025766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AMAR A wre d i fvafnedi w@ Al w99 37

(1)  9THE = 99 J@:f (2) HFE T fawm 5
(3)  HEE wH wgfd (4) favafaena sHgH AR 1 awE
Options:

6453501011145, 1
645350101120 2
645350101121, 3
EAEZ50101122. 4

Question Number : 47 Question Id : 64635025767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which discipline has the highest percentage of enrolment in the higher education of India?

(1) Arts (2) Science
(3) Commerce (4) Technology and Engineering
Options:

645350101123 1
645350101124, 2
645350101125 3
EAEZ50101126. 4

Question Number : 47 Question Id : 64635025767 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HId H 3= foian 4 frafafaa 8 9 e sqarm § qmre gfaed gaffas 27

(1) el (2) fagm
(3)  arfEg (4) Si=nfER ua et
Options:

E4E350101123. 1
645350101124 2
645350101125 =2
45350101126 4

Question Number : 48 Question Id : 64635025768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Below are given two columns. Column — A presents the stream of courses and column — B

presents the name of courses. Match the two columns

Column- A Column-E
(Stream) (Name of courses)
(a) Professional (1) Engneering Architecture
(b) Academic (1) Carpentering, Sewing
() Technical (n1) Medicine, Law
(d) Skill based (iv) Arts, Commerce

Choose your answer from the options given below :

1) (@-ai); G)-@); ©-0; D-av)
@) (@-1); (b)) ©-av); (d)-0)
@) @-0); b-@); -m); d-av)
@ (@-aii); b)-av); ©)-0; -



Options:

645350101127 1
E4E350101128 2
45350101129 =
645350101120 4

Question Number : 48 Question Id : 64635025768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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b
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(a) cETIEIREE (i)  genfafar, e
(b) AHEGHS () weFil @il e
(c)  deATHl (iii) «Ai=, fafe
(d) =v-araE (iv) e, AfEa
v Aot # 7 g I gHT

1) @-Gi); G)-G); ©-0; @-av)
@ (@-G); (b)-ai); ©-av); ([D-0)
@ (@-0); G-@); ©-a); (d-av)
@ (a)-ai1); (b)-Gv);, ©-0); d)-i)

Options:
45250101127, 1

EAE350101128. 2
E4E350101129. =
EAEZ501011300 4

Question Number : 49 Question Id : 64635025769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following indicate the pillars of learning contained in the UNESCO Report,
1996, “Learning the Treasure Within”.

(a) Learning to know

(b) Learning to be

(c) Learning tolearn

(d) Learning to understand
(e) Learning to live together

Choose your answer from the options given below :

(1) (&, b), © and (d) (2) (a), (¢), (d) and (e)
(3) (b), (), (d) and (e) @ (&), (b), () and (e)
Options:

6453501011210 1
645350101132 2
6453501011233 3
E4EZ50101134. 4

Question Number : 49 Question Id : 64635025769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
At 7 Zee faf gt foard, 1996 d Frafafiga 8 @ @« & stirm wrat Frs=a 37
(@) FH % forg =i
b) & % oo dhgn
©) =A™ F fou g
d) @wE % foag e
() =u-ury & % fou drga

Ta oot # & "er 39T g+ -

1) (&), b), © @) 2 (a), (), (d) = ()
@ M), ©, @ = () 4) (a), (), () &K (e)
Options:

E4E350101121. 1
EAE350101132. 2
E4E350101133. 2
645350101134 4

Question Number : 50 Question Id : 64635025770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements explains the concept of gross enrolment ratio?

D
(2)

(3)
@)

Options:

Total number of students divided by the total population

Total number of enrolled students of a particular age group divided by total
population of that age group

Total number of students divided by the total number of children not admitted to the
mstitution

Total number of students not admitted to the institution divided by the total number
children of that age-group

E45350101135. 1
645350101136, 2
645350101137 2
645350101138 4

Question Number : 50 Question Id : 64635025770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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@)
(2)
(3)
(4)

Options:

& sHoE g fefoia e il i gen
30 fav wrat & feenfii g ferarftee var sy sgert & Amfra faenftii € $a e
fSret ween | wow A8 e 2, 37 w= i g g g fonnfsa frnfiEt 6 g den

30 fae ag &l % =0 & Fa g g fowifea 37 it & Fa gen A e § waw
T foe 2

645350101135 1
645350101136 2
E4EZ50101137. =
EAEZ501011358. 4

PART II Sociclogy

Section Id : 646350512
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 100
Number of Questionsto be attempted: 100
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 6463501271

Question Shuffling Allowed : Yes



Question Number : 51 Question Id : 64635025771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to Durkheim, low regulation in society will lead to which type of suicide?

1. Egoistic
3. Fatalistic
3. Altrwshe

4, Anomic

Options:

648350101129 1
45350101140 2
645350101141 =
645350101142 4

Question Number : 51 Question Id : 64635025771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350101129 1
645350101140 2
645350101141 =
648350101142 4

Question Number : 52 Question Id : 64635025772 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which scholar is associated with the term “thick description’?
1. Karl Mannheim
2. Alfred Schutz
3.  Erving Goffman

4.  Chfford Geertz

Options:

645350101142 1
645350101144 2
645350101145 =
648350101146 4

Question Number : 52 Question Id : 64635025772 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HF-1 AT e AR | SEida 87
1. e Bered
2. 3@hs I
3. sfdnaeEs
4. oIS Micy
Options:

E4E350101142. 1
E4E350101144 2
645350101145, =
645350101146, 4

Question Number : 53 Question Id : 64635025773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which community did Durkheim exammne Totermsm?
1. Red Indian
2. Trobriand Islanders
3. Australian Arunta

4. Afncan Gypsies



Options:

645350101147 1
648350101148 2
645350101149 =
645350101150, 4

Question Number : 53 Question Id : 64635025773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

@M = {9 gem ® SeHdaR’ 3t S| 31 4@
. W
2. gifsais ghoarst
3. IRCTeR 3rE=
4. Aplet foret

Options:

645350101147 1
645350101148 2
645350101149 =
645350101150 4

Question Number : 54 Question Id : 64635025774 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who has popularized the term ‘Total Institution’?
1. F.Tonnies

2.  Erving Goffian
3. Talcott Parsons

4.  Karl Mannheim

Options:

648350101151, 1
45350101152 2
645350101152 =
645350101154 4

Question Number : 54 Question Id : 64635025774 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350101151 1
645350101152 2
646350101152 =
45350101154 4

Question Number : 55 Question Id : 64635025775 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which critical theory has Jurgen Habermas emphasized?
1.  Theory of Neo-colomalism
2. Theory of exchange
3.  Theory of structuration

4. Theory of commumnicative action

Options:

645350101155 1
645350101156 2
645350101157 =
645350101158 4

Question Number : 55 Question Id : 64635025775 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350101155 1
646350101156 2
648350101157 =2
45350101158 4

Question Number : 56 Question Id : 64635025776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following motives of the actor was NOT dealt by T. Parsons?
1. Cogmntive
2. Evaluative

3. Numerative

4. Cathectic

Options:

645350101159 1
645350101160, 2
645350101161, =
48350101162 4

Question Number : 56 Question Id : 64635025776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350101159 1
645350101160, 2
645350101161, =2
48350101162 4

Question Number : 57 Question Id : 64635025777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match List—I with List—II :

List-I List-II
{ Sociologists) (Sociological Traditions)
(a) Emile Durkheim (1) Structuralism
(b) Clifford Geertz (1)  Post-modernism
(¢) Claude Levi-Strauss (111)  Interpretative
(d) Michel Foucault (1v)  Functionalism

Choose the correct option from those given below :
L (a)-v); (b)id); (o)-(1); (d)—ii)
2. (a)-v); 0)-1); (0)(ib); (d)(iii)
3. (&) (b)), (1) (D11
4. (a)-u); (b)-Q); (e)w); (d)-Gv)

Options:

645350101162 1
645350101164 2
645350101165 =



EAEZ50101166. 4

Question Number : 57 Question Id : 64635025777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

-1 &1 FE-11 1/ gAfea aifom
a1 A1

(FRTSIRTR (FHTSIIT T TRFT)
(a) FAIEA gEiH i) =G
(b) TTHIS M (i) TR-enyfFwaae
(¢) wefs odt-xrg (i) TETED
(d) wEHdFD! (iv) vordE
f&T 0 fdsey # A 1 IR 1 997 Sifer :

L. (a)-Qv); (b)-(ur); (¢)-Q); (d)~(11)
2. (@-(v); (0)-1); (e)-(u); (d)~(m)
3. (@)-@); ()~(m); (e)1v); (d)—11)
4. (a)-(ui); (b)-1); (0)-(1); (d)-(1v)

Options:
42350101162, 1

E4E350101164. 2
645350101165, =
645350101166, 4

Question Number : 58 Question Id : 64635025778 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which form of crisis in capitalist societies was NOT discussed by Habermas?
1. Legitimation
2. Rationality
3. Motivation

4.  Emotional

Options:

645350101167 1
645350101168 2
645350101169 2
48350101170 4

Question Number : 58 Question Id : 64635025778 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TR 7 Uoiiardl THml 1 9oc & 59 wEy o 99 A6l o1 87

1. dua

2.  difbepa
3. fwoRor
4,  HAMED

Options:

45350101167, 1
645350101168 2
645350101169 =
645350101170 4

Question Number : 59 Question Id : 64635025779 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List-II :

List-I List-II
(Author) (Contribution)
(a) Max Weber (1)  Interaction Ritual
(b) E. Goffman (1)  The Nation State and Violence
(¢) A. Giddens (1)  The Religion of India
(d) David Held (iv)  Models of Democracy

Choose the correct option from those given below :
1. (a)-); (B)-av); (e)-(u); (d)~1u)
2. (a)—(un); (b)-v); (e)-(); (d)—1)
3. (a)y-(u); (b)-1); (e)-(1); (d)-Gv)
4. (a)-(v); (b)-(1); (¢)-(1); (d)-111)
Options:
646350101171, 1
646350101172, 2

645350101173 =
645350101174, 4

Question Number : 59 Question Id : 64635025779 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L (a)=); (0)—v); (¢)-(ur); (d)—11)

bl

()—(ii); (b)—~(iv); (e)-(); (1)
3. (a)y-(u); (b)-); (c)~n); (d)-(v)
4. (a)-v); (b)—); (e)-(a); (D))

Options:

6453501011711

645350101172 2

645350101173 3
E4E350101174. 4

Question Number : 60 Question Id : 64635025780 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who has authored the work, Distinction (1981)?
1.  Anthony Giddens
2. Pierre Bourdieu
3. C. Geertz

4. Jurgen Habermas

Options:
45350101175 1
45350101176, 2



EAE350101177. 2
E4E350101175. 4

Question Number : 60 Question Id : 64635025780 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T (1981) Bid &1 d@® B 22

1. Uy e
2. o |iféa
3. s

4, T gEEN

Options:

645350101175 1
645350101176 2
645350101177 =2
48350101178 4

Question Number : 61 Question Id : 64635025781 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Among the following, who supported the ideal typical cultural theme of Hinduism?

1. M.K Gandh

2. B. R. Ambedkar
3. Kabir
4.  Periyar

Options:

645350101179 1
645350101180, 2
648350101181, =2
6453501011582 4

Question Number : 61 Question Id : 64635025781 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350101179 1
48350101180 2
453501011281 =
645350101182 4

Question Number : 62 Question Id : 64635025782 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following 1s NOT the work of G. S. Ghurye?
1.  Class, Caste and Occupation
2. The Scheduled Community
3.  Caste and Race in India

4. Indian Sadhis

Options:

453501011532 1
645350101184 2
645350101185 =
6453501011586, 4

Question Number : 62 Question Id : 64635025782 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



fFofefed 7 9 o o 0. 94 &t 3 781 87
. T b T
2. G IRrsge R
3. PRI ITETEET
4. FleTTEIEW

Options:

648350101182 1
45350101124 2
645350101185 =
645350101186 4

Question Number : 63 Question Id : 64635025783 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Max Weber, which entities are always struggling for domination?
1. Class
2. Parties
3. Class situation

4, Status

Options:

6453501011587 1
645350101188 2
645350101189 =
645350101190 4

Question Number : 63 Question Id : 64635025783 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

648350101187 1
45350101188 2
645350101189
645350101190 4

Question Number : 64 Question Id : 64635025784 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who analyzed the ways in which economic and social transformation in capitalism
connect to the information technology revolution?

1. Edward Said
2. J. Habermas
3.  Mamuel Castells

4.  Clifford Geertz

Options:

645350101191, 1
645350101192 2
645350101193 =
645350101194 4

Question Number : 64 Question Id : 64635025784 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350101191, 1
648350101192 2
45350101192 =
645350101194 4

Question Number : 65 Question Id : 64635025785 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The use of phonemes in relation to kinship system was done by whom?
1. C. Lewvi-Strauss
2. A.R. Radchiffe-Brown
3. B. Malinowski

4. 8. F. Nadel

Options:

645350101195 1
645350101196 2
645350101197 2
48350101198 4

Question Number : 65 Question Id : 64635025785 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350101195 1
645350101196 2
645350101197 2
48350101198 4

Question Number : 66 Question Id : 64635025786 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who is associated with the concept “Reflexive Modernization™?
1. Edward Said
2. ]. Habermas
3. Manuel Castells

4. Anthony Giddens

Options:

645350101199 1
E4E8350101200 2
645350101201, 35
645350101202 4

Question Number : 66 Question Id : 64635025786 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
c4e250101199 1
CE4EZE0101200. 2

E4E350101201. =
EAE350101202. 4

Question Number : 67 Question Id : 64635025787 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In Goffiman’s dramaturgy, which one of the following 1s NOT included?

—

Side stage

[ o]

Mystification
3.  Frontstage

4. Impression management

Options:

645350101202 1
645350101204 2
645350101205 =
48350101206 4

Question Number : 67 Question Id : 64635025787 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

648350101202 1
45350101204 2
645350101205
645350101206 4

Question Number : 68 Question Id : 64635025788 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following pairs 1s NOT correct?

1.  Robert Redfield — America
2. Karl Mannheim — Germany
3. Claude Levi-Strauss - France

4. Anthony Giddens - England

Options:

645350101207 1
645350101208 2
645350101209 2
645350101210 4

Question Number : 68 Question Id : 64635025788 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

648350101207 1
45350101208 2
645350101209
645350101210 4

Question Number : 69 Question Id : 64635025789 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s meant by “operationalization of a concept™?
1. Indicating an empirical referent of a concept
2. Linking a concept to theory
3.  Doing conceptual research

4. Operating with new situation

Options:

645350101211, 1
645350101212 2
645350101213 =
645350101214 4

Question Number : 69 Question Id : 64635025789 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350101211 1
645350101212 2
645350101213 =
648350101214 4

Question Number : 70 Question Id : 64635025790 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who has written the book, The Structure of Scientific Revolutions?
1. John Dewey
2. Thomas S. Kuhn
3. David Held

4.  Manuel Castells

Options:

645350101215 1
648350101216 2
45350101217 2
645350101218 4

Question Number : 70 Question Id : 64635025790 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350101215 1
45350101216, 2
E4EZ50101217. 2
EAEZ501012158. 4

Question Number : 71 Question Id : 64635025791 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Theory and research are related to each other, because

(a) theory guides research

(b) theoryis an outcome of research

Which of the following combinations is correct?
1.  (a)is true but (b) is false
2. (a)is false but (b) 1s true
3.  (a)and (b) both are true

4. (a)and (b) both are false

Options:

645350101219 1
48350101220 2
45350101221 5
645350101222 4

Question Number : 71 Question Id : 64635025791 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6453501012139, 1
45350101220 2
645350101221, 3
EAEZ50101222. 4

Question Number : 72 Question Id : 64635025792 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is NOT true about qualitative research?

1. It uses inductive approach
2. Privileges positivism
3.  Involves interpretation
4. Includes value judgement

Options:

646350101223, 1

646350101224, 2

645350101225 3
EABZS0101226, 4

Question Number : 72 Question Id : 64635025792 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

648350101222 1
45350101224 2
645350101225
45350101226 4

b2

Question Number : 73 Question Id : 64635025793 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A null hypothesis tells us that two variables are
1.  parhally related to each other
2. conditionally related to each other
3.  notrelated to each other

4.  directly related to each other

Options:
45350101227, 1

EABZS0101228. 2
EAEZ50101229. =
EAE350101230. 4

Question Number : 73 Question Id : 64635025793 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

648350101227 1
45350101228 2
645350101229
645350101220 4

Question Number : 74 Question Id : 64635025794 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is NOT true about survey research?

el

It was questionnaire
2. It studies a sample drawn from a larger population

3. It has reference to a single point of time

-

It involves control variable

Options:

645350101221 1
645350101232 2
645350101233 =
645350101234 4

Question Number : 74 Question Id : 64635025794 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

648350101221 1
453501012322 2
645350101222
645350101224 4

Question Number : 75 Question Id : 64635025795 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A good set of research questions must NOT be
1. clear
2. broad
3. connected to theory

4.  related to each other

Options:

645350101225 1
645350101236 2
645350101237 =
645350101238 4

Question Number : 75 Question Id : 64635025795 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
45350101235 1

EAE350101236. 2
4350101237, 3
EAEZ501012358. 4

Question Number : 76 Question Id : 64635025796 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who has authored the book, What is This Thing Called Science?

1.  C. Wright Mills

!\J

A. F. Chalmers
3. Y. Singh

4. B. K. Pattanaik

Options:

645350101229 1
645350101240 2
645350101241 =
645350101242 4

Question Number : 76 Question Id : 64635025796 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350101239 1
645350101240 2
648350101241 =
45350101242 4

Question Number : 77 Question Id : 64635025797 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The value of middle position in a distribution of values is called
1. mean
2. median
3. mode

4.  mmd-point

Options:

645350101243 1
648350101244 2
645350101245 5
645350101246 4

Question Number : 77 Question Id : 64635025797 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
645350101243 1

EAEZ50101244 2
E4E350101245. =
EAE350101246. 4

Question Number : 78 Question Id : 64635025798 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

A Likert scale measures

correlation

[—

2.  attitude

3. deviation

4, satisfaction

Options:

645350101247 1
645350101248 2
645350101249 =
648350101250 4

Question Number : 78 Question Id : 64635025798 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350101247 1
645350101248 2
6453501012493 =2
E4E350101250 4

Question Number : 79 Question Id : 64635025799 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In research, what 1s meant by “ethnographic allegory’?
1. Reveals the underlying meanings of cultural practices
2. Analysing large scale numerical data
3. Explainming type of population studied

4.  Comparing one field with another

Options:

645350101251 1
648350101252 2
45350101252 =
645350101254 4

Question Number : 79 Question Id : 64635025799 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350101251 1
645350101252 2
645350101252 =
E4E350101254 4

Question Number : 80 Question Id : 64635025800 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

During which stage of research coding is essential?
1. Before drawing a sample

2.  Before collecting data

3. After cleaning of collected data

4,  After tabulation of data

Options:

645350101255 1
648350101256 2
45350101257 =2
645350101258 4

Question Number : 80 Question Id : 64635025800 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
45350101255 1

EAEZ50101256. 2
EAEZ50101257. 3
EAE3501012558. 4

Question Number : 81 Question Id : 64635025801 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which test can be applied to measure relationship between a qualitative and a
quantitative variable?

1.  Correlation coefficient (r)
2. Phi coefficient (¢)
3. Chi-square (¥°)
4. 1-test
Options:
646350101259, 1
646350101260 2

645350101261, 2
45350101262 4

Question Number : 81 Question Id : 64635025801 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350101259 1
645350101260 2
645350101261 =
645350101262 4

Question Number : 82 Question Id : 64635025802 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which kind of research analysis of data 1s an ongoing process during data collection?
1.  Qualitative
2. Quanttative
3. Survey

4.  Expenmental

Options:

645350101263 1
645350101264 2
648350101265 =
45350101266, 4

Question Number : 82 Question Id : 64635025802 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350101262 1
645350101264 2
645350101265 =
645350101266, 4

Question Number : 83 Question Id : 64635025803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

L.. Dumont is the exponent of which of the following views of caste?

L. Functional
2. Structural
3. Cultural

4.  Mythological

Options:

645350101267 1
645350101268 2
645350101269 2
48350101270 4

Question Number : 83 Question Id : 64635025803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. veHEs
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Options:

645350101267 1
645350101268 2
646350101269 =
45350101270 4

Question Number : 84 Question Id : 64635025804 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who said that “role 1s the dynamc aspect of status™

1. Linton
2.  Lundberg
3. Maclver

4.  Herskovitz

Options:

645350101271 1
48350101272 2
45350101272 =
645350101274 4

Question Number : 84 Question Id : 64635025804 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350101271 1
645350101272 2
6453501012732 2
E4E350101274 4

Question Number : 85 Question Id : 64635025805 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who said that “the habitus 1s the product of past experiences, but it always transmits
their experiences in an active creative fashion’?

I H. Garfinkel
2. A. Giddens
3. E. Leach

4. P. Bourdien

Options:

645350101275 1
645350101276 2
48350101277 2
45350101278 4

Question Number : 85 Question Id : 64635025805 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350101275 1
645350101276 2
645350101277 2
48350101278 4

Question Number : 86 Question Id : 64635025806 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which commumnity has the majority of its population living in diaspora than at home?

1. Jewish

2. Indian

3.  Chinese
4.  Canadian

Options:

645350101279 1
648350101280 2
45350101281 =2
645350101282 4

Question Number : 86 Question Id : 64635025806 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350101279 1
648350101280 2
45350101281 =2
645350101282 4

Question Number : 87 Question Id : 64635025807 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A rule or standard of behaviour defined by shared expectations of two or more people
regarding what behavior is to be considered as socially acceptable, i1s referred to as :

1. custom
2. wvalue

3. tradition
4.  norm

Options:
43501012583, 1

EAE350101284. 2
EAEZ50101285. =
EAEZ501012586. 4

Question Number : 87 Question Id : 64635025807 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. dfd-Rars
2. W™

3. ORER

4. from

Options:

645350101282 1
645350101284 2
645350101285 =
645350101286 4

Question Number : 88 Question Id : 64635025808 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who is considered as the father of functionalist theory of culture?
1. R K. Merton
2.  B. Malinowski
3. A R. Radcliffe-Brown

4. H. Spencer

Options:

645350101287 1
645350101288 2
6453501012893 2
E4E8350101290. 4

Question Number : 88 Question Id : 64635025808 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

648350101287 1
45350101288 2
645350101289
645350101290 4

Question Number : 89 Question Id : 64635025809 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List-II :

List-1 List—II
(Concepts) (Explanation)
(a) Authority (1) Ideas and behaviour logically coherent
(b) Power (i1) Socially accepted norm
(¢) Rationality (111) The legitimate form of power
(d) Legitimacy (iv) Depends on a personal source

Select the correct answer from the options given below :

L (a)-); (0)1v); (e)-(); (d)-{11)

2. (a)id); (b)-(); (e)(iv); (d)(i1)

3. (a)-@); (b)-Gv); (0)-1); (D)

4. (a)-@); (b)-(v); ()-(); (1)

Options:

645350101291 1
648350101292 2
45350101292 =
645350101294 4

Question Number : 89 Question Id : 64635025809 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)-(u1); (b)—-v); (e)~(1); (d)11)
2. (a)-@i); (b)-1); (e)—v); (d—11)
3. (ayQu); (D)-Qv); (e)-); (d)-(1)
4. (a)-(u); (b)-(v); (c)-(u); (d)—1)

Options:

645350101291, 1

E4AE350101292. 2

EAEZ50101232. =
EAE350101294. 4

Question Number : 90 Question Id : 64635025810 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The Weberian model of social stratification has been applied to caste by
1. M. N. Srinivas
2.  S5.C.Dube
3. A Beteille

4.  G.S. Ghurye

Options:
645350101295 1
645350101296 2

E4B250101257. 3



EAEZ501012958. 4

Question Number : 90 Question Id : 64635025810 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
645350101295 1

EAEZS01012396. 2
EAE350101297. =
E4E3501012358. 4

Question Number : 91 Question Id : 64635025811 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who stated ‘Magic is sacred and science i1s profane’?
1. B. Malinowsk
2 J. Frazer

3.  E. Durkheim

4, E.B Tyler

Options:

645350101299 1
648350101200 2
45350101201, =2
645350101202 4

Question Number : 91 Question Id : 64635025811 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350101299 1
645350101300 2
645350101301, =
648350101202 4

Question Number : 92 Question Id : 64635025812 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Among the following “‘Couvade’ is best described by
1.  Husband leads the life of invalid
2. Practice both husband and wife follow
3. A kinship usage

4. Relationship of love and emotion between the husband and the wife

Options:

648350101202 1
645350101204 2
645350101305
645350101306, 4

Question Number : 92 Question Id : 64635025812 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350101303 1
645350101304 2
648350101205 =2
45350101208 4

Question Number : 93 Question Id : 64635025813 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Punaluan’ as a form of fammly has been classified by
1. G.P. Murdock
2. P.N. Prabhu
3. L. H. Morgan

4. K. M. Kapadia

Options:

6453501012307 1
645350101308 2
645350101309 2
48350101210 4

Question Number : 93 Question Id : 64635025813 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

648350101207 1
45350101208 2
645350101209
6453501012310 4

Question Number : 94 Question Id : 64635025814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who has defined education as ““the action exercised by the older generations upon
those who are not yet ready for social life...”*?

I R. H. Lowie
2. E. Durkheim
3. D.P. Mukerj

4, P. Bourdieu

Options:

645350101311 1
645350101312 2
646350101212 =
45350101214 4

Question Number : 94 Question Id : 64635025814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350101211 1
645350101312 2
645350101313 =
646350101214 4

Question Number : 95 Question Id : 64635025815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following works is concerned with a process of development from
primitive to modern society?

1. Division of Labour in Society (E. Durkheim)
2.  Economy and Society (Max Weber)
3.  The Handbook of Economic Sociology (N. J. Smelser)

4.  The Origin of the Family, Private Property and State (F. Engels)

Options:

645350101315 1
648350101216 2
645350101217 3
645350101218 4

Question Number : 95 Question Id : 64635025815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350101315 1
645350101316 2
648350101217 =2
45350101218 4

Question Number : 96 Question Id : 64635025816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The History of Sexuality (3 volumes) was authored by
1. Paul Rabinow

2. Michel Foucault

3. Peter Brown

4. Saint Augustine

Options:

645350101319 1
48350101220 2
645350101221 5
645350101322 4

Question Number : 96 Question Id : 64635025816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

648350101219 1
645350101220 2
645350101321 =
645350101322 4

Question Number : 97 Question Id : 64635025817 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following cities has changed from ‘pensioners’ paradise to ‘silicon
valley of India’?

1. Hyderabad
2. Pune

3. Bengaluru
4. Qurugram

Options:

45350101323 1
645350101324 2
645350101325
645350101326 4

Question Number : 97 Question Id : 64635025817 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350101323 1
E4E350101224 2
45350101225 =2
645350101326 4

Question Number : 98 Question Id : 64635025818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other as
Reason (R) :

Assertion (A) : Gated enclaves represent high income group residential areas.
Reason (R) : Only rich can afford to live in such enclosures.
Select the correct answer from the options given below :
1.  Both(A)and (R) are true and (R) is the correct explanation of (A)
2. Both (A) and (R) are true, but (R) is not the correct explanation of (A)
3. (A)istrue, but (R)1s false

4. (A)is false, but (R) is true

Options:

648350101227 1
45350101228 2
645350101329
645350101320 4

Question Number : 98 Question Id : 64635025818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

645350101327 1
645350101328 2
645350101329 2
E4E350101220 4

Question Number : 99 Question Id : 64635025819 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following states has highest percentage of metropolitan population in
relation to total urban population of the state?

1. Kerala
2. Maharashtra
3.  Gujarat

4. West Bengal

Options:

645350101331 1
453501012322 2
645350101222 5
645350101224 4



Question Number : 99 Question Id : 64635025819 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350101331 1
645350101332 2
648350101222 =
45350101224 4

Question Number : 100 Question Id : 64635025820 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

By which year New Delhi is estimated to be the most populous city of the world?

1. 2050
2. 2040
3. 2030
4. 2025

Options:

648350101235 1
645350101236 2
645350101337
645350101338 4

Question Number : 100 Question Id : 64635025820 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. 2050
2. 2040
3. 2030
4, 2025

Options:

645350101335 1
645350101336 2
645350101337 2
483501012328 4

Question Number : 101 Question Id : 64635025821 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who held the view that Indian tribals were ‘backward Hindus’?
1. G.S. Ghurye
2. A R Desai
3. N.K Bose

4. Y. B Damle

Options:

645350101339 1
645350101340 2
648350101241 =
45350101242 4

Question Number : 101 Question Id : 64635025821 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

648350101229 1
45350101240 2
645350101241 5
645350101342 4

Question Number : 102 Question Id : 64635025822 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s NOT an attribute of rural society?
1.  Predominance of natural environment
2. Agrarian economy
3. Manmufactunng and industry

4. Joint famuly

Options:

645350101242 1
645350101344 2
645350101345 =
48350101246 4

Question Number : 102 Question Id : 64635025822 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frofafaa & @ oF-d ardior o 3t fadwar a8l 22
1. Upiie arama<or B wu=a
2. piy-srfaEen
3. fafsafor sik 3=
4. Hged uiEr



Options:

645350101343 1
648350101244 2
45350101245 =
645350101246, 4

Question Number : 103 Question Id : 64635025823 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who has applied Robert Redfield’s concept of ‘Little and Great Tradition” to
understand the Indian society?

1. S. C. Dube
2. Yogendra Singh
3, T. K. Oommen

4. Milton Singer

Options:

645350101347 1
645350101348 2
648350101249 =
45350101250, 4

Question Number : 103 Question Id : 64635025823 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350101347 1
645350101348 2
6453501013493 =
E4E350101250 4

Question Number : 104 Question Id : 64635025824 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other as
Reason (R) :

Assertion (A) : The absolute increase in population is more in urban areas than in
rural areas during 2001-2011 decade.

Reason (R} : Itis due fto migration.

Select the correct answer from the options given below :
1.  Both (A)and (R) are true and (R is the correct explanation of (A)
2. Both (A)and (R) are true, but (R) is not the correct explanation of (A)
3. (A)istrue, but (R)is false

4. (A)is false, but (R) 1s true

Options:

645350101351 1
646350101352 2
45350101252 =
645350101254 4

Question Number : 104 Question Id : 64635025824 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
6452501013510 1



EAE350101352. 2
645350101353, 2
645350101354 4

Question Number : 105 Question 1d : 64635025825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The estate system 1s more often associated with
1. ancient society
2. socialism

3. feudalism

4. capitalist society

Options:

645350101355 1
645350101356 2
645350101357 =
646350101358 4

Question Number : 105 Question Id : 64635025825 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350101355 1
645350101356 2
646350101357 2
48350101358 4

Question Number : 106 Question Id : 64635025826 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who has written/edited the book, Peasants and Peasant Societies?
1.  Eric Wolf
2. Oscar Lewis
3.  Robert Redfield

4.  Teodor Shamn

Options:

648350101359 1
45350101260 2
645350101361, 5
645350101362 4

Question Number : 106 Question Id : 64635025826 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350101359 1
645350101360 2
648350101261 =2
645350101262 4

Question Number : 107 Question Id : 64635025827 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who refers to Indian villages as “Little Republics™?
1. Lord Ripon
2. Charles Metcalfe
3.  Lord Macaulay

4, Jawaharlal Nehm

Options:

48350101262 1
45350101264 2
645350101365
645350101366 4

Question Number : 107 Question Id : 64635025827 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. diedus
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Options:

645350101363 1
645350101364 2
483501013265 =
645350101266, 4

Question Number : 108 Question Id : 64635025828 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following authority types is based on umque personal traits?
1.  Traditional
2. Personal
3.  Charnismatic
4.  Rational-legal

Options:

E4E350101367. 1
45350101268 2
645350101269
645350101370 4

Question Number : 108 Question Id : 64635025828 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350101367 1
645350101368 2
48350101269 =
645350101270 4

Question Number : 109 Question Id : 64635025829 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who propounded the concept of “Hegemony’?
1.  Antomo Gramsei
2. Karl Marx
3.  Max Weber

4.  R. Dahrendorf

Options:

6483501013711
48350101272 2
645350101372
645350101374 4

Question Number : 109 Question Id : 64635025829 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fg U@ DI YR H1 HiduTe fesam u?
1. dertei arege

2. @Td Hed
3, AEIR
4. AR STEEH

Options:

645350101371 1
645350101372 2
648350101372 =
45350101274 4

Question Number : 110 Question Id : 64635025830 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following is NOT an essential attribute of a state?
1. Temtory
2. Govermnment
3.  Sovereignty

4. Civil society

Options:

648350101375 1
45350101276 2
645350101377
645350101378 4

Question Number : 110 Question Id : 64635025830 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350101375 1
645350101376 2
645350101377 =
645350101378 4

Question Number : 111 Question Id : 64635025831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who coined the term “Vote Bank’ in India?
1. M. N. Srimvas
2. Rajnm Kotharn
3. Ginsh Kumar

4. Dipankar Gupta

Options:

648350101379 1
45350101280 2
645350101281
645350101382 4

Question Number : 111 Question Id : 64635025831 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350101373, 1
645350101280 2
645350101281, 3
EAEZS0101352. 4

Question Number : 112 Question Id : 64635025832 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the following statements :
(a) Modernization 1s a consequence of development .
(b) Development is progressive but all progress is not development .
(c) Development 1s nothing but planned change .
Which of the above statements are correct?
. (a),(b)and(c)
2. (b)and(¢) only
3. (a)and(b) only

4. (a)and (c) only

Options:

645350101382 1
645350101384 2
645350101385 =
48350101286 4

Question Number : 112 Question Id : 64635025832 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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EAEZ501013584. 2
645350101285, =
6453501013586, 4

Question Number : 113 Question 1d : 64635025833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following is NOT a characteristic of Weberian Bureaucracy?
1. Specialization
2. Hierarchy
3. Jobtenure

4.  Reservation

Options:

645350101387 1
648350101288 2
45350101289 =2
645350101290, 4

Question Number : 113 Question Id : 64635025833 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

48350101287 1
645350101288 2
6453501012389
645350101390 4

Question Number : 114 Question Id : 64635025834 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The statement “History is graveyard of Aristocracies’ is attributed to

1. G. Mosca
2. K. Marx
2y V. Pareto

4. L. Feuerbach

Options:

645350101291 1
645350101392 2
645350101393 =
648350101294 4

Question Number : 114 Question 1d : 64635025834 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350101291 1
645350101392 2
645350101393 =
645350101394 4

Question Number : 115 Question 1d : 64635025835 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who 1s the author of the book, Rural Development : Putting the Last First?
1.  Robert Pritnam

2. Jane Krippers Black
3.  Dadabha Naoroj

4.  Robert Chambers

Options:

645350101295 1
645350101396 2
645350101397 =
648350101298 4

Question Number : 115 Question 1d : 64635025835 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350101395 1
648350101298 2
645350101297 35
645350101298 4

Question Number : 116 Question Id : 64635025836 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Around the world, neo-liberalism has been imposed by powerful financial institutions.
Which of the following is one of such institutions?

1.  International Labour Orgamzation (ILO)

2.  United Nations Educational Scientific and Cultural Organization
(UNESCO)

3. Inter-American Development Bank (IDB)

4.  BRICS

Options:

645350101399 1
648350101400, 2
645350101401, 5
645350101402 4

Question Number : 116 Question Id : 64635025836 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

648350101299 1
45350101400 2
645350101401, 5
645350101402 4

Question Number : 117 Question Id : 64635025837 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following countries 1s an example of “state capitalism’?
1. China
2. India
3.  Switzerland

4. France

Options:

645350101402 1
645350101404 2
645350101405 =
648350101406 4

Question Number : 117 Question 1d : 64635025837 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350101402, 1
645350101404 2
645350101405 5
645350101406, 4

Question Number : 118 Question Id : 64635025838 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



What percentage of the total profit a corporate must invest for the purpose of
‘Corporate Social Responsibility (CSR)’ in India?

1. 5%
2. 4%
3y, 2
4. 2%

Options:

645350101407, 1
645350101408 2
645350101409 =
645350101410 4

Question Number : 118 Question 1d : 64635025838 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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l. 2%
2. 4%
He A%
4. 2%

Options:

648350101407 1
645350101403 2
645350101409
645350101410 4

Question Number : 119 Question Id : 64635025839 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A set of policies which emphasizes the rule of market, cutting public expenditure for
social services, deregulations puntization and elimination of the public good or
community is conceptualized as which of the following?

| Neo-Marxism
2. Neo-fuinctionalism
3. Neo-liberalism

4. Fordism

Options:

645350101411, 1
645350101412 2
645350101413 =
645350101414 4

Question Number : 119 Question 1d : 64635025839 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350101411, 1
645350101412 2
645350101413 =
645350101414 4

Question Number : 120 Question 1d : 64635025840 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1s the measure of extreme poverty internationally in terms of per day per head of
purchasing parnity?

L. $1D
2. $149
3. &35
4. $45

Options:

645350101415 1
645350101416 2
645350101417 =
646350101418 4

Question Number : 120 Question Id : 64635025840 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350101415 1
648350101416 2
45350101417 =2
645350101418 4

Question Number : 121 Question Id : 64635025841 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The proportion of women workers in labour force in India as per World Bank Report
2017 1s

1. 15-6%
2. 24:5%
3. 279%
4. 31-8%

Options:

645350101419 1
645350101420 2
648350101421, =2
45350101422 4

Question Number : 121 Question Id : 64635025841 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1.  156%
2. 24-5%
3. 279%
4. 31-8%

Options:

645350101419 1
648350101420 2
45350101421 =2
645350101422 4

Question Number : 122 Question Id : 64635025842 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Structural-differentiation model of economic development was formulated by
1. Neil J. Smelser
2.  W.W. Rostow
3. Damniel Lerner

4.  E. M. Rogers

Options:

645350101422 1
645350101424 2
645350101425 =
645350101426 4

Question Number : 122 Question 1d : 64635025842 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

648350101422 1
45350101424 2
645350101425
645350101426 4

Question Number : 123 Question Id : 64635025843 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘Momentum for Change : Climate Neutral Now’ is an initiative which was launched by
1.  The United Nations Environment Programme (UNEP)

2. The United Nations Framework Convention on Climate Change
(UNFCCC)

3.  The World Meteorological Organization

4. The Inter Governmental Panel on Climate Change

Options:
645250101427, 1

EAEZ50101428. 2
EAE350101429. =
EAEZ50101430. 4

Question Number : 123 Question Id : 64635025843 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350101427 1
48350101428 2
45350101429 =2
645350101420, 4

Question Number : 124 Question Id : 64635025844 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What was the theme of “World Environment Day, 201877
1.  Comnecting People of Nature
2. Beat Plastic Pollution

3. Go Wild for Life

4, Seven Billion Dreams One Planet

Options:

645350101421 1
645350101432 2
645350101433 =
645350101434 4

Question Number : 124 Question 1d : 64635025844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘o gataor feaw, 2018° &1 fawg aar ur?
1. @l ol Upid & I Sife
2. WIS Uguu &l A
3. offaq o fere siret s
4. O "tEe 9= U U

Options:

645350101421 1
645350101432 2
645350101433 =
648350101424 4

Question Number : 125 Question Id : 64635025845 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who among the following coined the term ‘Cultural Ecology’ in his famous book,
Theory of Culture Change : The Methodology of Multilinear Evolution?

I J. H. Steward
2. G.L. Young
3. W. K. Catton Jr.

4. R. Dunlop

Options:

645350101435 1
648350101438 2
453501014327 =2
645350101428 4

Question Number : 125 Question Id : 64635025845 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
1 9 fFar ool vidg oo 'Ol o SeR 99 : © AUiSidel 3 Heclat-a
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Options:

645350101425 1
645350101436 2
645350101437 =
6483501014328 4

Question Number : 126 Question Id : 64635025846 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Famous environmental NGO “Tarun Bharat Sangh” was founded by
1. Rajendra Singh
2.  Kailash Satyarthi
3.  Rukmim Banerji

4.  Bharat Vatram

Options:

645350101439 1
648350101440 2
45350101441 =
645350101442 4

Question Number : 126 Question Id : 64635025846 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TR & &3 3 SH S ard URg R-Wer) 6T a8 4R 99 &) o= fHam &t
of?

1. o e

2. e gt
3. &oHuT gl
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Options:

645350101439, 1
645350101440, 2
645350101441 =
645350101442 4

Question Number : 127 Question Id : 64635025847 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



When was the term “Social Forestry™ used for the first time 1n India?

I, 1932
2. 1976
3. 1978
4. 1979

Options:

645350101443 1
648350101444 2
E4E350101445 =
645350101446 4

Question Number : 127 Question Id : 64635025847 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HRA § g1 i g &1 Tan Ugdl SR &9 fadl T

. 1972
2., 1998
3., 1998
4. 1979

Options:

645350101443 1
645350101444 2
648350101445 =
45350101448 4

Question Number : 128 Question Id : 64635025848 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who 1s the author of the monograph 4An Environmental History of the World?
1. Ramchandra Guha
2. L. Feuerbach
3.  Francis Zimmerman

4. Donald Hughes

Options:

645350101447 1
48350101448 2
45350101449 =
645350101450 4

Question Number : 128 Question Id : 64635025848 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350101447 1
645350101448 2
648350101449 =
45350101450 4

Question Number : 129 Question Id : 64635025849 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List-II

List—I List—II

(Acts and Policies) (Year)
(a) Biological Diversity Act 1) 1972
(b) Environmental Protection Act (i) 2002
(¢c) Wild Life Protection Act (i) 1986

(d) Plastic Waste Management Rules (iv) 2016

Select the correct answer from the options given below :
1. (a)-); (b)); (e)—(11); (d)-(v)
2. (a)-@); (B (e)—(m); (d-1v)
3. (a)u); (b)—m); (¢)—); (d)—-(v)
4. (a)-(i); (b)-O: (e)—1v); (d)ii)

Options:

648350101451 1
E4E350101452 2
645350101452
645350101454 4

Question Number : 129 Question Id : 64635025849 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



-1 & JEi-11 9 gafea i -
i1 a1

(arffram iR Hfah (TE)
(a) o9 fafdear aftfam i) 1972
(b) OO TRET fAFTH (i) 2002
(¢) goia geer ffafam (iii) 1986
(d) wes iRy yae Haamaa iv) 2016
J fou U Ae e § 9 95 SR g
1. (a)i); (b)ii); (c)—(iii); (dy-({v)
2. (a)-i); (b)~1); (o)-(iii); (d)—{v)
3. (a)-(i); (b)ii); (e)-(1); (d-Gv)

4. (a)-(m); (b)-Q); (¢)-w); (d)—1)
Options:
6422350101451, 1
646350101452 2

645350101453, =
645350101454 4

Question Number : 130 Question 1d : 64635025850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Alliance Theory in Kinship Studies is associated with which of the following scholars?
1.  Kathleen Gough
2. Pauline Kolenda
3.  C. Levi-Strauss

4. A. R. Radcliffe-Brown

Options:
648350101455 1



EAEZ50101456. 2
645350101457, =
645350101455, 4

Question Number : 130 Question 1d : 64635025850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350101455 1
645350101456 2
645350101457 =2
48350101458 4

Question Number : 131 Question Id : 64635025851 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which section of Indian Penal Code deals with LGBT?

1. 376
2. 37
3. 487
4. 497

Options:

645350101459, 1
645350101460, 2
645350101461 5
645350101462 4

Question Number : 131 Question Id : 64635025851 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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. 376
2. 3N
3. 487
4. 497

Options:
645350101459, 1

E4E350101460. 2
E4E350101461. =
EAEZ50101462. 4

Question Number : 132 Question Id : 64635025852 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Kinship termunologies reflect a great deal about preferences and prohlibitions of
marriage. Which categories of relatives are preferred in Dravidian marriage as reflected
in the terminology?

1.  Preference for “sapinda’ marriage
2. Preference for cross-cousin marriage
3.  Preference for parallel cousin marriage

4. Prohibited cross and parallel cousin marriage

Options:

645350101463 1
645350101464 2
645350101465 =2
45350101466 4

Question Number : 132 Question Id : 64635025852 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350101463 1
648350101464 2
45350101465 =
645350101466, 4

Question Number : 133 Question Id : 64635025853 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Honour killing 1s aimed at protecting which of the following social institutions?
1.  Family and Caste
2. Casteand Law
3. Law and Marriage

4. 'Women and Khap

Options:

645350101467 1
645350101468 2
645350101469 =
648350101470 4

Question Number : 133 Question 1d : 64635025853 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350101467, 1
645350101468 2
645350101469 =
645350101470 4

Question Number : 134 Question 1d : 64635025854 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following practices do PNDT (1994) Act and its Amendments aim to
prohibit?

1. Abortionin India
2 Sex-selective abortion in India
3. Autonomy of women to abort a child

4. Legal right to abort a foetus

Options:

645350101471 1
645350101472 2
645350101473 =
648350101474 4

Question Number : 134 Question Id : 64635025854 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350101471 1
645350101472 2
645350101473 =
648350101474 4

Question Number : 135 Question Id : 64635025855 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match List—I with List—II :

List-I List-II
(Books) (Authors)
(a) After Kinship (1) David M. Schneider
(b) American Kinship (i1) Janet Carsten
(¢) Structural Anthropology (111) Bob Simpson

(d) The Theory of Social Structure  (iv) Claude Levi-Strauss
(v) S.F. Nadel
Select the correct option from the options given below :

L. (@(v); (0)—(v); (@)ii); (d)-()
2. (a)y(i1); (B-v); (V) (A
3. (@) )H1); (Hv); (dV)
4. (a)-1); ()-i); ()iD); (d)-av)

Q46350101475 1

645350101476, 2
645350101477, 3



EAEZ50101475. 4

Question Number : 135 Question Id : 64635025855 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1 3t g1 @ GARE B -

Hal-1 G-I
(T5) (D)

(a) STFR 7RI i) SfdsuH FEs
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L (a)-@v); (b)(v); (0)(u); (d)-Q1)
2. (a)-(ui); (b)-Gv); (e)~(v); (d)-@)
3. (&) (b)-D); (@Q—wv); (DV)
4. (a)-); (b)-(); (¢)-(ui); (d)-(v)

Options:

645350101475 1

645350101476, 2

645350101477, 2
645350101475, 4

Question Number : 136 Question Id : 64635025856 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When a newly married couple resides in the man’s father’s house this type of residence
1s termed as

1.  patrlocal
2. varnlocal
3. matnlocal

4.  neolocal



Options:

6453501014793 1
648350101420 2
453501014281, =2
645350101482 4

Question Number : 136 Question Id : 64635025856 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. uldwrRe
2.  Fdwa
3.  Hg-wite
4.  Ta-RY1HD

Options:

648350101479 1
45350101420 2
645350101481, 5
645350101482 4

Question Number : 137 Question Id : 64635025857 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Why has ultrasound technology in reproductive medicine led to “missing girls’ in India
but not in the West?

1. High value of daughter
2. Aversion to daughter
3.  Aversion to son
4. Aversion to marrage
Options:
646350101483 1
646350101484 2

E4E350101485. =
EAEZ501014586. 4

Question Number : 137 Question Id : 64635025857 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

648350101482 1
45350101424 2
645350101485 5
6453501014586, 4

Question Number : 138 Question Id : 64635025858 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Internet originated in which one of the most inmovative research institutions of the
world?

1. Defence Research Establishment, Ottawa

2. US Defence Department’s Advanced Research Project
3. Bell Laboratory

4. Microsoft

Options:

645350101487 1
645350101488 2
6483501014389 =
45350101490 4

Question Number : 138 Question Id : 64635025858 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
645250101457, 1

EAE350101488. 2
EAE3501014589. =
EAEZ50101430. 4

Question Number : 139 Question Id : 64635025859 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match List—I with List—II :

List-1 List-II
(Concepts) (Authors)
(a) Timeless Time (1) David Held
(b) Hyperglobalizers (11) Anthony Giddens
(¢} Late Modermty (i) Immanuel Wallerstein
(d) World System Theory (iv) Manuel Castells

Select the correct option from the options given below :
1. (@)-1); (b)11); (c)-(u1); (d)-Gv)
2. () (b)) (¢)-Qav); (d)-(m1)
3. (@-Gv); 0)-G); ()G, (d)id)
4. (a)(ii); (b)iv); ()-(); (d)—ib)

Options:
645350101491 1



EAE350101432. 2
645350101433, =
645350101454 4

Question Number : 139 Question 1d : 64635025859 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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L. (a)-); (b)~1); (0)—(ui); (d)-av)
2. (a-(); (B)H1); (), ()
3. (a)-av); (0)-); ()-(u); (d)-(un)
4. (a)-(u); (b)-(v); (0)-(); (D-1)

Options:

6453501014931, 1
E4E350101492 2
645350101492 5
645350101494 4

Question Number : 140 Question Id : 64635025860 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following describes all the forms of information technology that
involve communication?

1.  Electronic Communication Technology
2.  Interpersonal Communication Technology
3.  Mass Commumcation Technology

4. Official Communication Technology

Options:

645350101495 1
645350101496 2
645350101497 =
48350101498 4

Question Number : 140 Question Id : 64635025860 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350101495 1
645350101496 2
648350101497 =2
645350101493 4

Question Number : 141 Question Id : 64635025861 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Digital divide 1s the result of increasing
1. wviewership of television
2. usage of automatic machines in production
3.  computer technology in everyday life

4. 1mparting technology for industrializaton

Options:

645350101499 1
645350101500 2
645350101501, =
645350101502 4

Question Number : 141 Question 1d : 64635025861 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

648350101499 1
645350101500, 2
645350101501, =
645350101502 4

Question Number : 142 Question Id : 64635025862 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Why ‘Nestle’ received negative criticism on social media over the lead issue in the
product “Maggi’?

1.  They abused the users on social media

2. They did not reply to the user’s complaints

3.  They refused to apologise and digitally deleted protesters” links
4. They did not explain if anything was wrong with their product

Options:

645350101502 1
645350101504 2
645350101505 =
648350101506 4

Question Number : 142 Question 1d : 64635025862 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

648350101502 1
45350101504 2
645350101505
645350101506 4

Question Number : 143 Question Id : 64635025863 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



To protect yourself from a computer hacker, you should turn on a
1.  Script
2. VLC Media Player
3. Antvirus

4.  Firewall

Options:

645350101507, 1
645350101508 2
645350101509 =
645350101510 4

Question Number : 143 Question 1d : 64635025863 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T B S 8] B 9 & for snue! iR § | 59 = o3 =nfeu?
1. fSpp
2. . ug. 9t Hifew @R

3. UHERRY
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Options:

45350101507, 1
645350101508 2
645350101509
645350101510 4

Question Number : 144 Question Id : 64635025864 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Who emphasized that any cultural item can be analyzed through a circuit of culture?
1. Start Hall
2.  Dawid Held
3.  Max Horkheimer

4. T.W. Adomo

Options:

648350101511 1
45350101512 2
645350101512 =
645350101514 4

Question Number : 144 Question Id : 64635025864 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350101511, 1
645350101512 2
645350101512 =
645350101514 4

Question Number : 145 Question Id : 64635025865 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which ruling party in Cambodia was associated with mass killing in the 20th century?

1. National Socialist
2.  Bosnian Nationalist Group
3.  Khmer Rouge

4. Republican Party

Options:

645350101515 1
645350101516 2
646350101517 =2
45350101518 4

Question Number : 145 Question Id : 64635025865 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350101515 1
645350101516 2
645350101517 =
645350101518 4

Question Number : 146 Question 1d : 64635025866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following terms 1s used for the study of symbols and signs?
. Epimatnx
2. Logocentric
3.  Semuofics

4. Signa matrix

Options:

645350101519 1
645350101520 2
645350101521 =
645350101522 4

Question Number : 146 Question 1d : 64635025866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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4. TynAicew

Options:

648350101519 1
645350101520 2
645350101521 =
645350101522 4

Question Number : 147 Question Id : 64635025867 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Who commented on holocaust and modermity?
1. Zygmunt Bauman
2. Norbert Elias
3. Emest Gellner

4.  Bemamin Gregg

Options:
45350101523 1

E4E350101524. 2
EAE350101525. 2
EAE350101526. 4

Question Number : 147 Question Id : 64635025867 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350101522 1
645350101524 2
645350101525 =
645350101526 4

Question Number : 148 Question 1d : 64635025868 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which state was the “Appiko’ movement launched?
1. Kerala
2. Karnataka

3.  Andhra Pradesh
4. Telangana

Options:

645350101527 1
646350101528 2
45350101529 =
645350101520, 4

Question Number : 148 Question Id : 64635025868 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fore T | /iUl STgIa TR gam uT?
1. &4
2. HHlcH
3. IR
4, Qe
Options:

E4E350101527. 1
EAE350101528. 2
645350101529, =
645350101520 4

Question Number : 149 Question 1d : 64635025869 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Jallikattu is the traditional sport of which state?

1. Tamil Nadu

2. Telangana
3. Kerala
4.  Karnataka

Options:

645350101531 1
646350101532 2
45350101522 =
645350101524 4

Question Number : 149 Question Id : 64635025869 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Seiteeg o Te &1 URWRS Wd 87
1. dffETg
2. dEIET
3. &
4, SAlcHd
Options:

E4E5350101531. 1
E4E350101532. 2
645350101533 2
645350101534 4

Question Number : 150 Question Id : 64635025870 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following pairs of Traditional Gharanas and Musicians is NOT correctly
matched?

1. Banaras Gharana : Ginja Dewvi
2. Gwaliar Gharana : Mogubai Kurdikar
3. Jaipur Gharana . Kishori Amonkar

4. Patiala Gharana . Bade Gulam Ali Khan

Options:

645350101535 1
645350101536 2
648350101527 2
645350101523 4

Question Number : 150 Question Id : 64635025870 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

URes TR SR st @1 HH-91 gE TEt @ 3 gafd T8 €7

1. RE WA . ffen <Et

2. IR WA . OWER Hlem

3. SR WHA - foTRt smEeR
4. gfeardr e . g8 AW 3reft @t

Options:

645350101535 1
645350101536 2
6463501015327 =2
45350101528 4



